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Introduction to Statistical Inference

The basic situation in statistical inference problems is as follows:

@ We seek information about characteristics of a collection of elements,
called population;

@ Due to various considerations (such as time, cost etc.) we may not
wish or be able to study each individual element of the population;

@ Our object is to draw conclusions about the unknown population
characteristics on the basis of information on characteristics of a
suitably selected sample from the population;

e Formally, let the r.v. X (which may be vector valued) describes the
characteristics of the population under investigation and let F(-) be
the d.f. of X;
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Parametric Statistical Inference:

@ Here the r.v.X has a d.f. F = Fy(-) with a known functional form
(except perhaps for the parameter §, which may be a vector valued);

@ Let © be the set of possible values of the unknown parameter 6. In
problems of parametric statistical inference, the statistician’s job is
to decide, on the basis of a suitably selected sample (generally a
random sample) from Fy(-), which member or members of the family
{Fo(-) : 8 € ©} can represent the d.f. of X;
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Nonparametric Statistical Inference:

@ Here we know nothing about the functional form of the d.f. F(-)
(except perhaps that F(-) is, say, continuous or discrete);

@ Our goal is to make inferences about the unknown d.f. F(-);
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@ In statistical inference problems, the statistician can observe n
independent observations on X, the r.v. describing the population
under investigation, i.e., the statistician observes n values xq, ..., X,
assumed by the r.v. X;

@ Each x; can be regarded as the value assumed by a r.v. X,
i=1,...,n, having the d.f. F(-);

@ The observed values (xy,...,X,) are then the values assumed by
(Kla s 7Kn);
@ The set {X;,...,X,} is then a random sample of size n taken from

the population having d.f. F(-);

@ The observed value (xy,...,X,) is called a realization of the random
sample.

Module 33 Statistical Inference Problems: Pc 4 / 66



]
Definition 1

(a) The space of the possible values of the random sample (X;,...,X,)
is called the sample space. We will denote the sample space by x.
Generally the sample space x is the same as the support Sx of the
distribution of random sample or its interior.

(b) In the parametric statistical inference problems, the set © of possible
values of the unknown parameter 6 is called the parameter space.
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Some Parametric Statistical Inference Problems

Consider the following example.

Example 1.
@ A manager wants to make inferences about the mean lifetime of a
brand of an electric bulb manufactured by a certain company;

@ Here the population under investigation consists of lifetimes of all the
electric bulbs produced by that company;

@ Suppose that the r.v. X represents the lifetime of a typical electric
bulb manufactured by the company, i.e., the r.v. X describes the
given population;
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@ Probability modelling on the past experience with testing of similar
electric bulbs indicates that X has an exponential distribution with
mean 0, i.e., X has the d.f.

0, if x <0
Fx(XIG)Z{ 1 e b ifx>0

@ But the value of § € © = (0, 00) is not evident from the past
experience and the manager wants to make inferences about the
unknown parameter 6 € ©;

@ Here © = (0, 00) is the parameter space. Due to various
considerations (e.g., time, cost etc.), the statistician can not obtain
the lifetimes of all the bulbs produced by the company;

@ One way to obtain information about the unknown 6 is to do testing,
under identical conditions, on a number, say n, of electric bulbs
produced by the company;
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@ This leads to observing a realization x = (xi,...,x,) of a random
sample X = (Xi,...,X,) from the population;

o Here, X =(X1,....Xp) e x =Ry ={(t1,...,tn) : 0< t; <00,/ =
1,...,n} and y is the sample space;

@ On the basis of the realization x of the random sample X, the
manager may want answer several questions concerning unknown 6.
Some of these may be:
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(a) How to obtain a point estimate of 87 This is an example of a point
estimation problem;

(b) How to obtain an appropriate interval in which the unknown 6 lies
with certain confidence? This is an example of a confidence interval
estimation problem of finding an appropriate random interval
(depending on X) for the unknown 6 such that the given random
interval contains the true 6 with given confidence (probability);

(c) To verify the claim (hypothesis) that § € ©g, where ©g C ©. This is
an example of hypothesis testing problem.
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Point Estimation Problems

e X: ar.v. defined on a probability space (2, F, P);

e X has a d.f. F(:|@), the functional form of which is known and § € ©
is unknown; here © is the parameter space;

@ The basic situation in point estimation problems is as follows:

o We observe r.v.s X;,..., X, (say, a random sample) from the
population described by the d.f. F(:|6);

e based on random sample X;, ..., X, we seek an approximation (or an

estimate) of 6 (or some function of 9).
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Definition 2.

(a) Let g(@) (possibly a vector valued) be a function of # which we want
to estimate. Then g(0) is called the estimand.

(b) Let A= {g(0): 0 € ©} C RY be the range of possible values of the
estimand g(#). A statistic § = §(X) is said to be an estimator of
g(0) if & maps the sample space x into R9; here X = (Xy,...,X,).
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Definition 2 (continued)

(c) Let x =(xq,-..,x,) be a sample realization of X = (X;,...,X,,)
and let 0 = §(X) be an estimator of g(#). Then J(x) is called an
estimate of g(f) (i.e., an estimate is a realization of an estimator);

Note: An estimator is a r.v.. To cover more general situations, in the
definition of an estimator we allow it to assume values outside A, the set
of possible values of the estimand g(6) (although it may look absurd).
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Example 2.

@ Let Xi,..., X, be a random sample from a Poisson(#) distribution,
where § € © = (0, 0);

o Let the estimand be g(0) = 6;
@ Then §1(X) = X is an estimator of g(0), so also is d2(X) = S2,

@ By the definition, d3(X) = (—1)%X1X] is also an estimator of g(#), but
it is absurd since it can assume negative values whereas the estimand
g(0) is positive.

We will now discuss two commonly used methods of parametric point
estimation, namely the Method of Moments and the Method of
Maximum Likelihood.
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The Method of Moments

@ Xi,...,Xu: arandom sample of size n from a population having
distribution function Fy(x), x € R (i.e., the r.v. describing the
population has the d.f. Fy(-)), where § = (61,...,6,) € © is an
unknown parameter;

o Suppose that, for k = 1,...,p, my = Ep(X{) exists and is finite.
Here and elsewhere Ey () (Pg,(-)) represents that the expectation
(probability) is calculated under the d.f. Fy (-), 8y € ©. Let
mg = he(0), k=1,...,p;

@ Define

1 n
Ak:n;x,k, k=1,...,p.
P
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Definition 3.

(a) mg (k=1,...,p)is called the kth population moment (about origin)
of the d.f. Fy(-), 8 € ©;

(b) Ax (k=1,...,p) is called the Kkt sample moment (about origin)
based on the random sample Xi,..., Xy;

(c) The method of moments consists of equating Ax with
hi(61,...,0p), for k =1,...,p, and solving for 1, ...,60,. The value

~

(01,...,0p) = (61,...,6p), say, so obtained is called the method of
moment estimator (M.M.E.) of § = (61,...,6,);
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Definition 3 (continued)

(d) Let g: © — A be a mapping of © onto A. If § is the M.M.E. of 6,
then g(0) is called the M.M.E. of g(8).

Remark 1. (a) The method of moments is not applicable when my
(k=1,...,p) do not exist (e.g., for the Cauchy distribution with median

9).

(b) M.M.E. may not exist when the underlying equations do not have a
solution. Also the M.M.E. may not be unique as the underlying equations

may have more than one solution.
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Example 3.

Let Xi,..., X, be a random sample from a Poisson(#) distribution, where
§ € © = (0,00) is unknown. Then # = X is the M.M.E. of 6.

Solution: We have m; = E(X;) = 6. Thus M.M.E. 0 is the solution of
equation
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Example 4.

2) be a random sample from N(u,o?) distribution,

{(z1,22) : —00 < z1 < 00,2 > 0} is unknown.
is the M.M.E. of 6.

v@

Solution: We have
m =E(Xy)=pu and my = E(X?) = 0% + 12

Thus M.M.E. § = (i, 52) is the solution of

i=1 i=1
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The Method of Maximum Likelihood

@ Xi,...,Xn: arandom sample of size n from a population having
p.d.f. (or p.m.f.) fy(x), x € R (i.e., the r.v. describing the population
has the p.d.f. (or p.m.f.) f3(-)), where § = (01,...,6,) € © is an

unknown parameter;
@ Then the joint p.d.f. of X = (Xy,...,Xp,) is
fx(x|0) = H fo(xi), 0 € ©.

Definition 4. For a given sample realization x = (x, ..., x,) of the
observation on X = (Xi, ..., Xy), the function

Lx(8) = fx(x]0),

considered as a function of § € O, is called the likelihood function.
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Remark 2.

In the discrete case, given the sample realization x = (xi,...,xp),
Lx(0o) = fx(x|6,)

is the probability of obtaining the observed sample x, when 6, € © is the
true value of 8. Therefore, intuitively, it is appealing to find QA = QA(K)
(provided it exists) such that L,(d) = supyce Lx(6), since if such a 0 exists
then it is more probable that x came from the distribution with p.d.f. (or
p.m.f) fx(-|) than from any of the other distribution fx(-|),

0 € © — {0}. A similar argument can also be given for absolutely
continuous distributions.
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Definition 5.

()

For a given sample realization x, the maximum likelihood estimate
(m.l.e.) of the unknown parameter 0 is the value 6§ = §(x) (provided
it exists) such that

A

Ly (0) = sup Lx(0).

6co

Let g : © — A be a mapping of © into A. Define, for A € A,
©)={0 € ©:g(f) = A}. Then, for a given sample realization x, the
function

Mx()) = aseu@p Lx(9),
USSPy

considered as a function of A € A, is called the likelihood function
induced by g(6).
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(c) For a given sample realization x, the maximum likelihood estimate
(m.l.e.) of the estimand g(@) is the value A = A(x) (provided it

exists) such that A
My (A) = sup My(2),
e

where M, () is as defined in (b) above.

@ (d) The estimator (a r.v.) corresponding to the m.l.e. is called the
maximum likelihood estimator (M.L.E.).
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Remark 3.

(a) (Maximum likelihood estimate may not be unique). Let

x = (x1,...,xn) be a sample realization based on a random sample
from U(6 — 1,0 + 3) distribution, where § € © = (—o0,00) is an
unknown parameter. Then, for x(1) = min{xy,...,x,} and

X(n) = Max{X1, ..., Xn},

. 1, IfX(n)—% 9§X(1)+%
Le(0) = { 0, otherwise '

Clearly any estimate §(x) such that x(,) — 1<é(x) < X1) + iisa

m.l.e. In particular 6*(x) = m isa m.l.e. of 6.
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(b) Maximum likelihood estimate may be absurd. Let

x =(0,0,...,0) be a sample realization based on a random sample of
size n from a Bin(1, #) distribution, where § € © = (0, 1) is unknown.
In this case

Ly(#)=(1-0)", 0<0<1.

and § = x = 0 is the m.l.e., while § does not belong to ©.

(c) Since Ly(@) and In L, (@) attain their maximum for same values of 6,
sometimes it is more convenient to work with In L ().
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(d) If © is an open rectangle in RP and L.(#) is a positive and
differentiable function of @ (i.e., the first order partial derivatives exist
in the components of §), then if a m.l.e. § exists, it must satisfy

0 .
aejlnLX(H)‘azé = 0, J:].,,p, Q:(Ql,...,ﬁp)

8 -
< aeﬁx(a)\e_a — 0, j=1,....p.
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Result 1.

(Invariance of the m.l.e.) Suppose that © CRP. Let g: © — A be a
mapping of © into A, where A is a region in RY (1 < g < p). If = QA(g)
is the m.l.e. of @ and O(X) € © with probability one, then g(f) is the
m.l.e. of g(0).

Proof: We have ©y ={ € ©: h(d) = A}, A€ Aand

My (X) = eseuep L(0), AeA
[USE)N

Clearly {©) : A € A} forms a partition of ©. Now

fismle. of0e® = 0 = QAEGA, for some A € A.

Module 33 Statistical Inference Problems: Pc 26 / 66



Let § € @3, where \ € A. Then h(QA) =2 (by definition of @3). Also,

since Q € Oy,

A ~

Ly(8) < sup Ly(8) = Mx(}) < supMy()) = supLx(6) = Ly(8)

0c0; Aen 0c®

~

= My(A) = supMy(N)
AEN

= h(f) is an m.l.e. of h(f).

4
[>>
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Regularity Conditions R;:

(a) The parameter space © is an open interval in R (finite, infinite or
semi-finite);

(b) The support Sx = {x : fx(x|#) > 0} does not depend on #.

(c) For any x € Sx and any 6 € ©, the derivative 8@ x(x]0), 6 € ©,
exists and is finite and

/ / fe(xl0)dx =1, 0 € ©,

can be differentiated under the integral (or summation) sign, so that

/ / —fXX\Q x:/ / fx(x|0)dx =0, V6 e©O

with integrals replaced by the summation sign in the discrete case.
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(d) For any x € Sx and any ¢ € ©, the second partial derivative
fx(xlé?) f € ©, exists and is finite and

802
/OO [ O (xdo)ax =0, s o
e )08 = ’

can be differentiated under the integral (summation) sign, so that

00 2
/ / 8862 (x]0)d d02/ / x(x|0)dx = 0,V60 € ©.

with integrals replaced by the summation sign in the discrete case.
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Remark 4.

(a) Using advanced mathematical arguments, it can be shown that the
regularity conditions R; are satisfied for a large family of distributions,
including the exponential family of distributions having associated
p.d.f.s (or p.m.f.s) of the form

fx(x]0) = c(0)h(x)e" T, xex, dee,

for some functions h(-), c(-), r(:) and T(-) and an open interval
©CR
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(b) For x € Sx,

vt = (2t = (o o)

represents the relative rate at which the p.d.f. (or p.m.f.) fx(x|0)
changes at x. The average of this rate is denoted by

100) = £ <<§9 In &(X!H))z) L HcOCR.

The large value of /(6p) indicates that it is easier to distinguish g
from the neighboring values of 6y and therefore more accurately 6 can
be estimated if true 8 = 6. The quantity /(6), 6 € ©, is called the
Fisher’s information that X contains about the parameter 6. Note
that /(@) is a function of # € ©.
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(c) Let Xi,..., X, be a random sample with common p.d.f./p.m.f.
f(-|0), # € © CR, and let X = (Xy,...,X,). Then

fx(x|0) = Hf xi|0), 6 € ©.
i=1

Let /(@) and /(0), respectively, denote the Fisher’s information
contained in the single observation, say Xi, and the whole sample
X =(X1,...,Xpn). Then, for 0 € ©,

0) = E ((;Ian(X]0)>2>

n 2

i=1
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_— (Z_; (;; In f(X;|0))2>

n

ZZ Inf(Xi10) 55
i=1 j= 1
i#j
2
= nEg<<§0|n f(X1|9)> )

= ni(9),

since X1,...,X, are i.i.d., and
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9 ee 8
d oo
= ) f(x|0)dx
= 0, Vheo.
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Result 2.

Let X1, Xo,... be a sequence of i.i.d. one-dimensional r.v.s with common
Fisher's information i(f) = Eg((% Inf(X1|0))?), 6 € © C R, where f(-]0),
0 € ©, is the common p.d.f. (or p.m.f.) of the sequence X1, Xz,..., and ©
is an open interval in R. Let 6, be the unique M.L.E. of 6§ based on
Xi,...,X,. Then, under regularity conditions Ry, as n — oo,

ﬁ(én—e)ivw/v<o,i(19)) and 6, % 0.
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Corollary 1.

Under the regularity conditions Ry, let g, = £,(X) be the M.L.E. of
one-dimensional estimand g(#), where g(-) is a differentiable function.
Then, under regularity conditions Ry, as n — oo,

Vi — g(0) S W~ N <0, (g;EZ;)2> and 2, B g(0), 0cO.
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Example 5.
Let Xi,..., X, (n>2) be a random sample from N(u,o?) distribution,

where = (u,02) € © = (—00,0) x (0,00) is unknown. Show that the
maximum likelihood estimator of € is (i, 62) = (X, =152).

Proof: For a given sample realization x = (xi,. .., Xp)
: 1 1 )2
Ly(0) = ,-1:[1{‘7 27re 2,2 (Xi—H) }
— (2ro?) e a2 Tl g g,
Then
L@ = e - D) - 55>
2 2 20 Pt

d 1 <
@lnLK(Q) = (jziZ}(Xi—u)
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imL(g) _ _L_i_izn:(x_
do2 X 202 204 —
0 n
o2 Int(6) = 02
0 n 1 «
InLy(0) = ———
9(c?)? n Lx(6) 204  of ;(X
o) 1 ¢
93002 InLy(0) = ~ i:1(x,- — ).
Clearly § = (fi,62) = (X, = -1 62) is the unique critical point. Also
d
—InL, -
[3N2 " (9)] 9=0 &2

0 n 1 <
[3(02)2 In Lx(e)] s | 25% 58 ;(X
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—53d

S

It follows that § = (fi,52) = (X, 2=152) is the m.l.e. of 0.

n

Module 33 Statistical Inference Problems: Pc 39 / 66



|
Example 6.
Let Xi,..., X, be a random sample from Bin(m, 6) distribution, where

¢ € © =(0,1) is unknown and m is a known positive integer. Show that
om(X) = X is the M.L.E. of 0.

Solution. For a sample realization x € y = {0,1,..., m}"
L m
LX — Xi 1 _ m—X;
o - fi{po-or]
n
= (H (m)> g1 (1 — )M 2im X
=1\

First, let § € (0,1).

InL(0) = Zn:m (;") + (Zx) Ind + <mn— Zn:x,) In(1 — 6)
! i=1

i=1 i=1

Module 33 Statistical Inference Problems: Pc 40 / 66



0 Shixi mn—=>Y "%
iy Lx — =17 =171
o™ 0) 0 1-0
0 X
In Ly —
50" «(0) >0 < 0_< -
& Zisthe M.LE. of 0
m -_—
X .
= 5/\//(&):; is the M.L.E. of 6.
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Example 7.

Let Xi,..., X, be a random sample from U(61, 6>) distribution, where
0= (01,02) € © ={(z1,2) : —00 < z1 < zp < 00} is unknown. Show
that QM(K) = (X(l),X(n)) is the M.L.E. of 4.

Solution.
1 .
—, iff <x<6y
fx,(x) = ¢ 020 "o _X 2,/:1,...,n.
0, otherwise

Let x be the fixed realization. Then

Le(8) = Lx(61,62) = fx(xI0) = ] fx(xil6)

1
_ )@y ) > X <02
0, otherwise

Here L, () is an increasing function of ; and decreasing function of 6.

Thus d(X) = (X(1), X(m)) is the M.L.E. of 0.

_Module 33 Statistical Inference Problems: Pc 42 / 66



|
Example 8. ( M.L.E. and M.M.E. may be different)

Let X ~ U(0,0), where §# € © = (0, 00) is unknown. Show that the
M.M.E. of 8 is \;mE(X) = 2X, whereas the M.L.E. of 6 is

SMLE(X) = X.

Solution. Since E5(X) = 4, it follows that Sy (X) = 2X is the
M.M.E. of 0. Also, for a fixed realization x > 0,

1

= iff >x
Lx(0) = Bx(x]6) == {g if0<6<x

Clearly Ly(0) is maximized at # = x. Thus the M.L.E. of 0 is
IMLE(X) = X.
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Properties of Estimators

Unbiased Estimators
Suppose that the estimand g(#) is real-valued.

Definition 6.
(a) An estimator §(X) is said to be an unbiased estimator of g(6) if
Eg(6(X)) =g(0), V0 € ©.

(b) An estimator which is not unbiased for estimating g(€) is called a
biased estimator of g(0).

(c) The quantity By(0) = Ep(d(X)) — g(8), 8 € ©, is called the bias of
the estimator §(X).
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Remark 5.

(a) Note that By(d) is a function of § € ©.
(b) Note that for an unbiased estimator §(X), By(d) =0,V 0 € ©.

(c) An unbiased estimator, if evaluated a large number of times, on the
average equals the true value of the estimand. Thus, the property of
unbiasedness is a reasonable property for an estimator to have.
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Example 8. ( Unbiased estimators may not exist)

. Let X ~ Bin(n,#), where # € © = (0, 1) is unknown and n is a known
positive integer. Show that the unbiased estimators for the estimand
g(0) = % do not exist.

Solution. On contrary suppose there exists an estimator 6(X) such that

E(5(X) = L woco

0
. 0\, n—i 1
|.e.,j§05(/)<j)01(1—0) l = S vo0<o<t

:9250)(?)91(1—9)”1 = 1,V0<h<1,
j=0

which is not possible since, as # — 0, L.H.S. — 0, whereas R.H.S. — 1.
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Example 9. ( Unbiased estimator may be absurd)

Let X ~ Poisson(f), where § € © = (0, 00) is unknown, and let the
estimand be g(6) = e3¢, Show that §(X) = (—2)% is the unique
unbiased estimator of g(#) (here §(X) = (—2)X takes both positive and
negative values, whereas the estimand g(0) is always positive).

Solution. An estimator §(X) is unbiased for estimating g(f) = =3¢ iff
Elo(X)] = g(0), voe®©

SR ,
&Y 6()—— = e’ vo>0

= L
— J(j)%¥ _20

& Z - = e, V>0
=
SRS N E

ey —— = Z ,V6>0
= j=0
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The L.H.S. and R.H.S. are power series in 6 and they match in an open
interval. Thus,

oU) _ (=2
jv g
=5(j) = (-2Y,j=0,1,2,...

j=0,1,2,...

Thus 6(X) = (—2)% is the unique unbiased estimator of g(6) = e=3.
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Example 10. ( M.M.E. and M.L.E. may not be
unbiased)
Let X ~ U(0,0), where € © = (0, 00) is unknown, and let the estimand

be g(#) = V. Show that M.M.E. and the M.L.E. of g(6) are
5MME(X) =+/2X and 5MLE(X) = \/)?, respectively, and

Es(Spme(X)) = 22g(6), 6 € ©, Eg(dpLe(X)) = 2g(6), 6 € ©.

Solution. For the sample realization x > 0, the likelihood function

Lx(0) = fx(x|0) = {

%, if 0 > x

0, otherwise,

is minimized at §# = 8 = x. Thus the MLE of 6 is X and by the invariance
property of MLEs, the MLE of g(#) = v/ is

SMLE(X) = VX.

0
2
E@[éMLE(X)] = / \g;dx = g\/é ?é 0.
0
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Also MME of 6 is given by (since E(X) = %)

IMME
2

Thus the MME of g(6) = V@ is

:X:>§MME:2X.

SMME(X) = V2X

= E[opmme(X)] = V2Ey(X) = 2‘36\/5 £ 0.
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Example 11 ( Typically, there are many unbiased
estimators for a given estimand)

Let Xi,..., X, be a random sample from a N(6,1) distribution, where
0 € © = (—00,00) is unknown, and let the estimand be g(6) = 6. Then
Sm(X) =X, 6i(X) = X;, 61y = X35 i je{1,2,...,n}, i #]
0ijk(X)=Xi+ X;j — Xk, i,j,k € {1,...,n}, etc., are all unbiased for
estimating g(0).
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As seen in the above example, typically, there are many unbiased
estimators for a given estimand. Therefore, it is useful to have some
criterion for comparing unbiased estimators. One criterion which is often
used is the variance of the unbiased estimator 4(-) (denoted by Vj(d) to
emphasize the dependence on § € ©). If §;1 = §1(X) and d2 = 02(X) are
two unbiased estimators of g(f) and if

Vo(01) = Eo((01(X) — g(0))?) < Va(02) = Eg((52(X) — g(0))?), V 8 € ©,

then (01(X) — g(6))? is, on the average, less than (62(X) — g(8))?, which
indicates that d; is nearer to g(@) than J2. For this reason we define:
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Definition 7.

An unbiased estimator 47 is said to be better than the unbiased estimator
0o if Vip(61) < Vp(d2), V 8 € ©, with strict inequality for at least one
6e0o.

Definition 8.
In an estimation problem where the M.L.E. exists, an estimator (not
necessarily unbiased) which depends on observation X = (Xi,...,X,) only

through the M.L.E. (i.e., an estimator which is a function of the M.L.E.
alone) is called an estimator based on the M.L.E..
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Under fairly general conditions, it can be shown that the estimators which
are not based on the M.L.E. are not desirable, i.e., given any unbiased
estimator &, which is not based on the M.L.E., there exists an unbiased
estimator based on the M.L.E., say dp;, such that §y, is better than that §.
Thus, to find the best unbiased estimators one should consider only those
estimators which are based on the M.L.E. Under fairly general conditions,
it can also be shown that there is only one unbiased estimator based on
the M.L.E., and that estimator is the best unbiased estimator. Therefore,
in finding a sensible unbiased estimator for an estimand g(€), we typically
start with the M.L.E. of g(€). If it is unbiased, then we have found the
estimator we want. If it is not unbiased, we modify it to make it unbiased.
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|
Example 12. Let Xi,..., X, be a random sample from a Poisson(6)
distribution, where § € © = (0, c0) is unknown, and let the estimand be
g(0) = Py(X = 0) = e~?. Then the M.L.E. of g(6) is dp(X) = e X and
the unbiased estimator based on the M.L.E. is dy(X) = (1 — %)"y.
Solution. Let T =37 X; so that T ~ Poisson(nf) and X = L. We

want the estimator §(X) = (L) such that

Es(6(X)) = e? vo>0
0 i a—nb j
Jj.e nf _
&) é(n),()J = e vo>0

& Zé(i)ﬁw = eV vp>o0

= n’j!
& ia(i)ief = i(”_lyef ¥0>0
2"’ ] g
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Ity o
& i) =1-2Y =01,

It follows that the unbiased estimator based on the M.L.E. is
Su(X) = (1 - L)X
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.
Example 13.

Let Xi,..., X, be a random sample from a N(u,o?) distribution, where
0= (p,0%) €0 ={(z1,22) : —00 < z1 < 00,25 > 0} is unknown, and let
the estimand be g(#) = 0. Show that the M.L.E. of (u,0?) is

(X, %) and the unbiased estimator of g(f) based on the M.L.E. is S2.

57 / 66
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Consistent Estimators

Let g(@) be a real valued estimand and let X1, Xz,..., X, be a random
sample based on which g(€) is to be estimated. We consider the problem
of estimating g(@) as n, the number of observations, goes to infinity.
Suppose that for each n, we have an estimator 6, = 6,(X1, ..., Xy) of
g(0). For any sensible estimator d, we would expect that, as n — oo, the
estimator &, would get close to g(f) in some sense. Estimators defined
below possess such property.

Definition 9. An estimator 0,(Xi, ..., Xy), based on sample Xi,..., X,
is said to be a consistent estimator of (or consistent for estimating) g(0)

if , for each 6 € ©, §,(X) & g(6), as n — .
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]
Remark 5.

(a) An estimator §,(X) is consistent for estimating g(0) if and only if, for
every 0 € O,

Ii_>m Po(|6n(X) — g(0)] > €) =0, YVe>0,
n—oo T

i.e., as n goes to infinity, the estimator §,(X) would get close to the
estimand g(0).

(b) Let © C R and suppose that the regularity conditions R; are satisfied.

Then, by Corollary 1, the M.L.E of any real-valued estimand g(@) is
consistent.
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]
Remark 5 continued

(c) Consider the method of moments for estimating the estimand
0=(01,...,0p). Let Ak =151 XK k=1,...,p, and let

mi = Eg(XK) = hi(0), k =1,...,p, say. By WLLN, A, 5 my = hy(6),
k=1,...,p. If (my,...,mp) = (h1(8), ..., hp(8)) is one-to-one function

of 8 and if the inverse functions 6; = gj(m1,...,mp), i=1,...,p, are
continuous in my, ..., mp, then, as n — oo,

0; = gi(A1,...,Ap) £>g,(m1,.. ,mp)=40;, i=1,...,p, so that

0 =gi(A1,...,Ap) (i=1,... ) are consistent estimators of 6;.

(d) If §,(X) is consistent for estimating g(f) and if {a,}n>1 and {bp}n>1
are sequences of real numbers such that a, — 1 and b, — 0, as n — oo,
then the estimator T,(X) = a,0,(X) + b, is also consistent for estimating
g(0). Thus for an estimand, typically, many consistent estimators exist.
Also it follows that a consistent estimator may not be unbiased.
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]
Theorem 1.

(a) If, for each 6 € ©, By(6,) and V() go to zero, as n — oo, then 4, is
consistent for estimating g().

(b) If 6, is consistent for estimating g(@) and h(t) is a real-valued
continuous function, then h(d,) is consistent for estimating h(g()).
Proof. (a) We have

Eo(0n(X) —£(0)) = Eol(dn(X) — Eo(0n(X)) + Eo(6n(X)) — £(6))°]
= Vy(6,) + (By(0,))* = 0,as n — oo.

Thus,

0 < Py(|da(X) — (8)] > €) < Ee@(xzz— g(0))?

= lim Py(0n(X) — £(6)] > €) = 0,Ve > 0

— 0,as n — oo, Ve > 0.

= 0n(X) 2 g(0).

(b) Follows using the result done before.
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Example 14. Let Xi, X5,..., X, be a random sample from a distribution
having p.d.f. f(x|0) = e~ (x=0) if x > 0 and = 0, otherwise, where

€ © = (—00,00) is unknown. The M.L.E. of 0 is 6 (X) = X(1) and the
unbiased estimator based on the M.L.E. is §y(X) = X(1) — 1 Both of
these estimators are consistent for estimating 6.

Example 15. Let Xi, X5,..., X, be a random sample from the Cauchy
distribution having p.d.f. f(x|¢) = 1 ﬁ, —00 < x < 00, where

6 € © = (—00,00) is unknown. Then §,(X) = X is neither unbiased nor
consistent for estimating g(0).
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Criteria for Comparing Estimators

We discussed how to find the best unbiased estimator. Often estimators
with some bias may be preferred over the unbiased estimators provided
these estimators have some desirable properties which are not possessed by
the unbiased estimators. Thus, it is useful to have a criterion for
comparing estimators that are not necessarily unbiased. One such criterion
is the mean squared error (m.s.e.), defined below.

Definition 10. (a) The mean squared error (m.s.e.) of an estimator §(X)
(possibly biased) of g(€) is defined by

Mp(8) = Ep ((8(X) — £(8))?) = Va(8) + (Be(9))*, £ €6,

where Vj(6) is the variance of §(X) and By(9) is the bias of §(X).
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(b) For estimating g (@), we say that the estimator d1(X) is better than
the estimator d2(X), under the m.s.e. criterion, if Mp(d1) < Mp(2),
V 6 € ©, with strict inequality for at least one 6 € ©.

Under fairly general conditions, it can be shown that the estimators
(possibly biased) which are not based on the M.L.E. are not sensible, i.e.,
given any estimator §, which is not based on the M.L.E., there exists an
unbiased estimator based on the M.L.E., say ¢*, such that 6* has smaller
m.s.e. than ¢, for each parametric configuration. Thus, for finding a
sensible estimator (not necessarily unbiased) of a real-valued estimand
g(0), we typically start with the M.L.E. of g(8) and then consider an
appropriate class, say D, of estimators based on the M.L.E., of which
M.L.E. is a particular member. This choice of class D is generally based
on intuitive considerations. We then try to find the estimator having the
smallest m.s.e. (if such an estimator exist) in this class D of estimators.
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Example 16. Let Xi,..., X, (n > 2) be a random sample from N(u,o?)
distribution, where = (i1, 02) = {(z1,22) : —00 < z1 < 00,2 > 0} is
unknown. Let (fi,5?) be the M.L.E. of (i, 02). Then

(a) M.L.E. 62 is not unbiased for estimating o?;

(b) The unbiased estimator of o2 based on the M.L.E. is
Su(X) = 7238% = 27 X (X — X)%

(c) Among the estimators in the class D = {§.(X) : d.(X) = c52}, the
estimator 4, (X) = 62 = ﬁ S0 (Xi — X)?, where ¢ = 741, has the
smallest m.s.e., for each parametric configuration.
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Thank you for your patience
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